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Exam Id
Name:
Exam Date: 13-Mar-2023
Module Name: TEACHERS
Duration 120
Batch: 12:15-14:15
1) General Studies
Question No. 1 1.00
Bookmark

Which Constitutional Amendment act provided reservation seats for women in the Panchayat?
69 RIS FeESIE ZRITAL IR ARRIAIGE QIR YHIAGER QIF A°AV6l (reservation seats) UG IS
AAARK?
(A) O 81st Constitutional Amendment Act
810¢ ARUIQ A°6ARIT AYTAC
(B) O 73rd Constitutional Amendment Act (Correct Alternative) (Choosen Option)
73061 TS D°6SIRIG TN (Correct Alternative) (Choosen Option)
(C) © 77th Constitutional Amendment Act
7706 RIIQ A°6ARIS AT
(D) © 44th Constitutional Amendment Act
4487 IS °6SlIIe 2RITAL

Question No. 2 1.00
Bookmark
The Rivers Alaknanda and Mandakini join at which among the following places?
@ﬂ@%l@ 66Q 2IP69 ARRIL] G FILIAR F91A ARG 6LIRR?
(A) O Vishnu Prayag

(B) O Karnaprayag
adgals

(C) O Devprayag
6Qagalol

(D) O Rudraprayag (Correct Alternative) (Choosen Option)
QLG (Correct Alternative) (Choosen Option)

Question No. 3 1.00

Bookmark
Which of the following Constitutional Amendment Acts added a new Directive Principle regarding 'Co-
operative Societies' to the Indian Constitution in 20117

FANGS 690 ARIIY A6 RITAE FIRU 2011 6Q NG IRIGER 'AARIG AAG (Co-operative
Societies)' JERER 615N G2 F6G'S G1& (Directive Principle) 6<ISIGIRI?
(A) O 62nd Constitutional Amendment
62571 IIS Q°68lIIe
(B) © 73rd Constitutional Amendment
738¢1 ARG Ae6RIS
(C) O 101th Constitutional Amendment (Choosen Option)
1019¢1 RIS G°64IRIS (Choosen Option)
(D) O 97th Constitutional Amendment (Correct Alternative)
972¢1 ARG A°661IRIS (Correct Alternative)

Question No. 4 1.00

Bookmark
Challenger Deep is located in which of the following oceans?

FIRYS 699 ALIATNE SYIERGR @9 (Challenger Deep) 9E6?
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(A) O Atlantic Ocean
AITRER ALIFISIR (Atlantic Ocean)
(B) O Indian Ocean
WG F1L14IfIR (Indian Ocean)
(C) © Arctic Ocean
QA9 LI9SR (Arctic Ocean)
(D) O Pacific Ocean (Correct Alternative)
gd6llg 1L1dIeIn (Pacific Ocean) (Correct Alternative)

Question No. 5 1.00
Bookmark
Who was the President of the Indian National Congress in the Belgaum session of 19247
1924 F192169 AUNS1K RIBIA F°6FIR 6TRGIIE! RIS (Belgaum session) 69 79 ARIARE aRU6R?
(A) O Rash Behari Ghosh
QUL LI 621N
(B) © Ambic Charan Mazumdar
AR 56 AGAKIR
(C) O Mahatma Gandhi (Correct Alternative) (Choosen Option)
f1L1¢]l 11§ (Correct Alternative) (Choosen Option)
(D) © Surendranath Banerjee
gJeagaId SUIGH

Question No. 6 1.00
Bookmark
Which is the largest moon in our solar system?
2IF 641 F19RER AG0IR 96 LAILN FIFT '8l
(A) O Ganymede (Correct Alternative)
([N (Ganymede) (Correct Alternative)
(B) O Titan
QIoGIe (Titan)
(Cy O Triton
GlRe'a (Triton)
(D) © Deimos (Choosen Option)
@619 (Deimos) (Choosen Option)

Question No. 7 1.00

Bookmark
Sarala Das, who was the real originator of the Odia literature, belonged to the:

622 QTR 996 681G (real originator) AR I 69 85 JLE FR6M |
(A) O Sixteenth Century AD
919 6YIMalY s1CI1
(B) © Thirteenth Century AD (Choosen Option)
NAR 66ACE SIGINT (Choosen Option)
(C) O Fourteenth Century AD
YD QRLEE SILIA
(D) O Fifteenth Century AD (Correct Alternative)
S1Ee dLSlE S19181 (Correct Alternative)

Question No. 8 1.00
Bookmark
Which of the following is an example of non-biodegradable waste?
FINGC FIR 69T I8 689 USRS AV YEYSY (non-biodegradable waste) R GGILNE 2657
(A) O Leaves
dg
(B) O Plastic bottle (Correct Alternative) (Choosen Option)
&8s 6518M (Correct Alternative) (Choosen Option)
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(C) O Fruits
T

(D) O Paper
@9l

Question No. 9 1.00

Bookmark
The amount of oxygen required by bacteria to break down the organic matter present in a certain volume
of a sample of water, is called :

4Q 0EY IRAI89 FR9 FERIER 29l 6FFR AQIPlg FASE ARSI AR UIEKAZN TR 2R 62R2S
AGRIR (oxygen) QL ASE1EIQ QeIdNg |
(A) O Biological Oxytocin Demand (Choosen Option)
QEAENGFRIN AKL6S19e Gelé (Biological Oxytocin Demand) (Choosen Option)
(B) O Chemical Oxytocin Demand
6afiaIm 22869198 G116 (Chemical Oxytocin Demand)
(C) O Zoological Oxytocin Demand
PeMNRIM ARL6SILR GLll8 (Zoological Oxytocin Demand)
(D) © Biochemical Oxygen Demand (Correct Alternative)
SIeACRARIM AKT6RE @Fll€ (Biochemical Oxygen Demand) (Correct Alternative)

Question No. 10 1.00
Bookmark
In which year, was All-India Muslim League established?
60@ 9F 255 QUGN AR MGl (All-India Muslim League) S10G 62I02lmI?
(A) O 1911 (Choosen Option)
1911 (Choosen Option)
(B O 1910
1910
(C) O 1906 (Correct Alternative)
1906 (Correct Alternative)
(D) O 1902
1902

Question No. 11 1.00

Bookmark
What is the rank of India in the world in terms of total land area?

64119 Qi QUGS 6L 2gHIeR J2Re LI 69Q 2ie (rank) 69! 2R?
(A) O Fifth
asge
(B) O Second
FO1A
(C) O Ninth
@
(D) O Seventh (Correct Alternative) (Choosen Option)
9¢1 (Correct Alternative) (Choosen Option)

Question No. 12 1.00

Bookmark
Where is the headquarters of the Asian Development Bank (ADB) located?

9G2Ie 606RMAUEEIE QUIE (Asian Development Bank, ADB) @ €J6l4IReL 6890169 219867
(A) O New Delhi
el QR
(B) O Manila (Correct Alternative) (Choosen Option)
AIGMI (Correct Alternative) (Choosen Option)
(C) O Tokyo
eg1eml
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(D) © Shanghai
PR

Question No. 13 1.00

Bookmark
Which of the following is a sedimentary rock?

PIRYS FUR 689G 66159 298G dRI (sedimentary rock) 2166'?
(A) O Marble (Choosen Option)
oM (Marble) (Choosen Option)
(B) © Marbonite
Al6SIFIRS (Marbonite)
(C) O Slate
695 (Slate)
(D) O Sandstone (Correct Alternative)
QIM 9219 (Sandstone) (Correct Alternative)

Question No. 14 1.00

Bookmark
Who was the Chairman of the Fifteenth Finance Commission of India?

AR ASRSE 22] 26S! (Fifteenth Finance Commission) @ @4 2&I® 2Jem?
(A) O Rangarajan R
QEPALR 2
(B) © N K Singh (Correct Alternative) (Choosen Option)
9g.69. 8° (Correct Alternative) (Choosen Option)
(C) O P JNayak
d. 64. Qloe
(D) © Manmohan Singh
ceeqieg g°

Question No. 15 1.00

Bookmark
Sri Lanka is separated from India by a narrow channel of sea formed by the Palk Strait and the

KUAG Ol glimel, e D8Rt (Palk Strait) 99 QI g8 6LIR2IQ1 AR 65T 2B
SUIEEM IR oI 6RIRS |
(A) O Gulf of Mannar (Correct Alternative) (Choosen Option)
A219! §1l& (Gulf of Mannar) (Correct Alternative) (Choosen Option)
(B) O Gulf of Khambhat
Y SIS (Gulf of Khambhat)
(C) O Gulf of Aden
299 9@ (Gulf of Aden)
(D) O Gulf of Kutch
@% 9% (Gulf of Kutch)

Question No. 16 1.00

Bookmark
Where is the headquarters of the Tobacco Board of India located?

661Q16S1 691E 2 Qdall (Tobacco Board of India) ot ¢]si4Imet 69Q0I69 29567
(A) O Kottayam
6RIBIIE
(B) O Kolkata
oM@l
(C) © Guntur (Correct Alternative)
= (Correct Alternative)
(D) O Kochi
615
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Question No. 17 1.00

Bookmark

In which session, the Indian National Congress passed the historic 'Purna Swaraj'resolution in 19297
609 266D QIRGIL RIT1IN 8°6819 FIR 1929 ALLIER ‘qqi, U@ (Purna Swaraj) 9IS ARG
6QIR2mI?
(A) O Madras Session

flgld 2llexela (Madras Session)
(B) © Surat Session

€916 2J6Rde (Surat Session)
(C) O Kolkata Session

6RImMRILI 2jedla (Kolkata Session)
(D) O Lahore Session (Correct Alternative) (Choosen Option)

MIELIN 26 ES (Lahore Session) (Correct Alternative) (Choosen Option)

Question No. 18 1.00

Bookmark
Who among the following was the first guru of Sikhism?

GONGSR CRIQ @9 J6 Ada gaIe gQ Aem?
(A) O Guru Arjan Dev
9 2GS 699
(B) © Guru Tegh Bahadur
R 665l Q1LY
(C) © Guru Nanak (Correct Alternative) (Choosen Option)
90 @9e (Correct Alternative) (Choosen Option)
(D) © Guru Har Gobind
R €9 698G

Question No. 19 1.00
Bookmark

Which of the following Articles of the Indian Constitution deals with 'Contingency Fund of India'?
QUACIY FRIGABIMEE 682 AR, 'VUAGR AIRFaG! & (Contingency Fund of India)' 98¢ @667
(A) O Article 269

diql 269
(B) O Aricle 366

Il 366
(C) O Article 267 (Correct Alternative)

AIGl 267 (Correct Alternative)
(D) O Article 256

Aol 256

Question No. 20 1.00

Bookmark
Which among the following Institutions, brings out the All-India Consumer Price Index Numbers for
Agricultural Labourers and Rural Labourers?

FImge 696 9°gl gIRU o8 gfe @ dicné gfie & I 2R-082 QU8 99 goml@ (All-India Consumer
Price Index Numbers) JRISie 6TIRelg?
(A) O National Sample Survey Office
@G Qe 668 1YL, (National Sample Survey Office)
(B) O Labour Bureau (Correct Alternative)
emeR gUe% (Labour Bureau) (Correct Alternative)
(C) O Reserve Bank of India
QUGN 96! QUG (Reserve Bank of India)
(D) © Department of Economic Affairs (Choosen Option)
22318 QUITIQ §8UG! (Department of Economic Affairs) (Choosen Option)

Question No. 21 1.00
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Bookmark
Which of the following rivers is also called the Dakshin Ganga?
QEmee IR 689 Qg QRS FIEPl 1l YRl ?
(A) O Tapi
eI
(B) O Godavari (Correct Alternative)
66llLIoN (Correct Alternative)
(C) © Narmada (Choosen Option)
@¢iQI (Choosen Option)
(D) O Indus
ag
Question No. 22 1.00
Bookmark
In which year, was Rowlatt Satyagraha started by Mahatma Gandhi?
60w od AKQ17]l FlIfe FI9 QUER, AQUIgE (Rowlatt Satyagraha) 29t 6Q1@2ImI?
(AY O 1927
1927
(B) © 1919 (Correct Alternative) (Choosen Option)
1919 (Correct Alternative) (Choosen Option)
(C) O 1942
1942
(D) O 1907
1907
Question No. 23 1.00
Bookmark

"Article 324" of the Constitution of India is associated with:
QUG ATRIGR "R 324" A86 @66 |
(A) O Finance Commission (Choosen Option)
212l 216819l (Finance Commission) (Choosen Option)
(B) © Comptroller and Auditor General of India
QUL 2GR B FLIeRS VR (Comptroller and Auditor General of India)
(C) O Election Commission of India (Correct Alternative)
QUG FSIeR 26LS (Election Commission of India) (Correct Alternative)
(D) © Union Public Service Commission
650G 6mMIRELR 26Kt (Union Public Service Commission)

Question No. 24 1.00
Bookmark

Which among the following freedom fighters led the Swadeshi Movement in Poona and Bombay?
FIMSER IR 624 RIGS! gogien gal 6 Q6969 649! 2IRINT (Swadeshi Movement) 2I9¢ @512J6m?
(A) O Lala Lajpat Rai

miml MIKde QUL
(B) © Jawaharlal Nehru

@ILIOMIM 6FELR
(C) © Satya Singh (Choosen Option)

a6Y4 g° (Choosen Option)
(D) © Bal Gangadhar Tilak (Correct Alternative)

QM GIGPIIA GMS (Correct Alternative)

Question No. 25 1.00
Bookmark
Article 21A of the Indian Constitution deals with:
QUL ARG MR 21A, a986 KEe |
(A) O Right to Equality
DGl 2RRNRX
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(B) O Right to Property
ARG 2RI

(C) O Right to Education (Correct Alternative) (Choosen Option)
SIRIGIE 2K (Correct Alternative) (Choosen Option)

(D) O Right against Exploitation
661196 TERUR ZRIFIR (Right against Exploitation)

Question No. 26 1.00
Bookmark
Zero-based budgeting was developed by whom among the following?
FImGe® TR @9 GEQU-2RIRAG (Zero-based) 64F @l Fd6 aRRlEM?
(A) © Mahalanobis
AILIRERISTE (Mahalanobis)
(B) O Amartya Sen (Choosen Option)
A6 698 (Choosen Option)
(C) O Peter Pyhrr (Correct Alternative)
do'Q dI9R (Peter Pyhrr) (Correct Alternative)
(D) © Mahatma Gandhi
g1le]l ol

Question No. 27 1.00

Bookmark
World Wetlands day is observed on every year by United Nations (UN).

fRe K1I59°d (UN) il 9@ «d g 94 A$RE Ted (World Wetlands day) @169 Ifg @RULI |
(A) O 4th February
4 6erQaliu
(B) O 2nd February (Correct Alternative)
2 629N (Correct Alternative)
(C) © 3rd February (Choosen Option)
3 6erqallu (Choosen Option)
(D) O 1st February
1 eergaanl

Question No. 28 1.00

Bookmark
Which of the following Schedules of the Indian Constitution contains the Union list, State list and
Concurrent list?

QRIS RIS FIREe 699 AT (Schedule) 62 6@€ SIRSI (Union list), URY GIm&! (State list) 99°
L9 SIMSI (Concurrent list) A&?
(A) O Sixth Schedule (Choosen Option)
VY 2AGLeT (Sixth Schedule) (Choosen Option)
(B) O Seventh Schedule (Correct Alternative)
496 Ag4e1 (Seventh Schedule) (Correct Alternative)
(C) © Ninth Schedule
Qa1 2941 (Ninth Schedule)
(D) © Eighth Schedule
2/ 29991 (Eighth Schedule)

Question No. 29 1.00

Bookmark
Which among the following organisations publishes the 'Global Financial Stability Report'?

aemge 694 2°gl IR 69 PIRFITRIRN LSRG eals (Global Financial Stability Report)' geI8@
6=Im2lN?
(A) O World Economic Forum (Choosen Option)

GINe RERIERITS s (World Economic Forum) (Choosen Option)
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(B) © Organisation for Economic Cooperation and Development

AHIFINERIS PR RERIERITR 6RIAVCALR 2 6PCRARICEIE (Organisation for Economic
Cooperation and Development)

(C) O World Bank
T¢ QUi (World Bank)
(D) O International Monetary Fund (Correct Alternative)
218HIER 135 a1§ (International Monetary Fund) (Correct Alternative)

Question No. 30 1.00
Bookmark
In 1948, the first excavations at the historical Sisupalgarh site were carriedoutby
1948 ¢ITQI6R g9l geIsad Jolde é]ﬁlﬂl(ﬁ‘al@ AFRA YRS Y 219 GQI@EJE.II |
(A) O B.K.Thaper
Q. 69. 2199

(B) O B.B.Lal (Correct Alternative)
§. §. MM (Correct Alternative)
(C) O N.K.Sahu
46, 67, dig
(D) © K.C.Panigrahi
6@. 4. 918gIe1

2) Arithmetic

Question No. 1 1.00
Bookmark
The product of two numbers is 2904 and their L.C.M is 132. Find the G.C.D of the numbers.
G@RE A°6lUIR YEICPR 2904 99° 6AFIRER M.ELG 132 86T | A°HUIGERR 18 ARINE AUSR (G.C.D) ada
o |

Ao 18
18

(BYO 24
24
(C) O 22 (Correct Alternative) (Choosen Option)
22 (Correct Alternative) (Choosen Option)
(DO 20
20

Question No. 2 1.00
Bookmark
Find the Total Surface Area of Cylinder, given that the radius is 28 cm and its height is 9 cm. (In cm?)
6915\ TREAR QUILIF 28 cm 95° 9TIQ AGEI 9 cm 26T | ILIR AAG YN 6JLFR ada @R | (cm?
69)
(A) O 6522
6522

(B) O 6532
6532

(C) O 6542
6542

(D) O 6512 (Correct Alternative)
6512 (Correct Alternative)

Question No. 3 1.00

Bookmark
If Ramesh distributed 1617 chocolates from a box of 3850 chocolates, what percentage of the chocolates
will be left in the box?
AT Q6716 69115 QIFER 2 3850 T SERIEMTQ 1617 T 96RI6ME S1& G 6064 QIFER 696¢ F0RC!
PERENT T VGS?

(A) O 32
52
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(B) O 54
54

(C) O 56
56

(D) O 58 (Correct Alternative) (Choosen Option)
58 (Correct Alternative) (Choosen Option)

Question No. 4 1.00
Bookmark
The average weight of a team of 34 IT employees is 56 kg. If the weight of the manager is included, then
the average increases by 1 kg. Find the weight of the manager. (In kg)
34 @6l IT QEGIAN 291 66115 QRR LIULIR BRT 56 kg 26T | UG AUIETRAR BRAG 6QLIKAN 6869
QAL BRF 1 kg ©F A | HIEGRAT BRE 2da e | (kg 69)
(A) O 91 (Correct Alternative) (Choosen Option)
91 (Correct Alternative) (Choosen Option)
B)O 95
95
(C)O 93
93
(D)O 97
97

Question No. 5 1.00
Bookmark
A merchant sells an article at a rate of 2 12650 and earns a profit of 10%. Find the cost price of the
article. (In %)
@64 YL 691159 GEIG T 12650 69 G AR 10% MW KT | GV G Y G4l x| (2 69)
(A) O 11500 (Correct Alternative) (Choosen Option)
11500 (Correct Alternative) (Choosen Option)
(B) O 12500
12500
(C) O 14500
14500
(D) O 13500
13500

Question No. 6 1.00
Bookmark
Find the value of X:
x x 126 = (23492-23366)x12
X QL gAY FRA8 /9 |
VX x 126 = (23492-23366)x12
(A) O 225
225
(B) O 144 (Correct Alternative) (Choosen Option)
144 (Correct Alternative) (Choosen Option)
(CyO 196
196
(D) O 169
169

Question No. 7 1.00
Bookmark
Find the LCM of 42/43 and 43/44.
42/43 3 43/44 Q R.91.9 740 /9 |
(A) O 1606
1606

(B) O 1806 (Correct Alternative) (Choosen Option)
1806 (Correct Alternative) (Choosen Option)
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(C) O 1706
1706
(D) O 1906
1906

Question No. 8 1.00
Bookmark
Find the total surface area of the cube, whose side is 41cm. (In cm? Use T = 22/7)
41cm 91g G4 691159 AAUGA 9618 JYCHD 6VLPR F4a A | (cm? 691 96° T = 22/7 QYLLIR |9
(A) O 10186
10186
(B) O 10286
10286
(C) O 10086 (Correct Alternative)
10086 (Correct Alternative)

(D) O 10386
10386

Question No. 9 1.00

Bookmark

Dravid and Sachin together can do a piece of work in 192 days and Ganguly can do it in 576 days. In how
many days will Dravid, Sachin and Ganguly do it together?
QIRE 6 957 69T\ RIFG 192 YR6R 2°Y4 ARG 99° 69T FIFIG FIgPM 576 Gaeq 2°94 KGIER |
QIRe, 98¢ B JIgMm YRS WEE 69T RIFIG 6R6C Q6T F°g4 aR6e?
(A) O 152

152
(B) O 144 (Correct Alternative) (Choosen Option)

144 (Correct Alternative) (Choosen Option)
(C)O 146

146
(D) O 148

148

Question No. 10 1.00

Bookmark

A trader mixes 16 kg of rice at ¥ 14 per kg with 20 kg of rice of other variety at ¥ 14 per kg and sells the
mixture at 2 21 per kg. Find the profit percent.
@66 ULl kg TR T 14 QAR 16 kg FlR IT6 kg O8I T 14 QAR 2QY IR 20 kg SIaR ASIREm 9e°
61T F181619 kg T8I 2 21 62 G F6M | §99% AIR dda aa |
(A)O 60

60
(B)O 55

55
(C)O 45

45
(D) © 50 (Correct Alternative) (Choosen Option)

50 (Correct Alternative) (Choosen Option)

Question No. 11 1.00

Bookmark

If a person had walked at 23 kmph instead of 19 kmph, he would have walked 32 km more. Find the
actual distance travelled by him at 19 kmph. (In km)
S G664 42 19 kmph GAR6E 23 kmph 696165 SIME 6568 6€1 32 km 21 SIMES | 69 19 kmph 68616
SIS g9 99e! fda 89 | (km 6Q)
(A) O 152 (Correct Alternative)

152 (Correct Alternative)
By O 182

182
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(C)O 162
162

(D) O 172 (Choosen Option)
172 (Choosen Option)

Question No. 12 1.00

Bookmark

Two numbers are in the ratio 22:23. If 13 is added to both the numbers, then the ratio becomes 23:24.
Find the smallest number before adding 13.
QRE QU AGUIS 22:23 26T | UG QAL L°SUIER 13 6L 6669 29AS 23:24 §9 | 13 6QIGR q‘a‘@
Y950 LHNITR GRY T4 F |
(A) O 276 (Choosen Option)

276 (Choosen Option)
(B) O 296

296
(C) O 306

306
(D) O 286 (Correct Alternative)

286 (Correct Alternative)

Question No. 13 1.00

Bookmark
What least digit should replace * in the number 946239*, so that the number is divisible by 97

€°6l41 946239* 6 <1 * 699 Y927 A IR TS 6891 2R, g FIAU L°HYIT 9 IR FQURY 6297

AO 7
2
B)O 5
5
o 9
9

(D) O 3 (Correct Alternative) (Choosen Option)
3 (Correct Alternative) (Choosen Option)

Question No. 14 1.00
Bookmark
What percent of 1692 is 4237
1692 Q 6Q6S FI0R%I 423 265'?
(AYO 35
35

(8) O 20
20

(C) O 30
30

(D) O 25 (Correct Alternative) (Choosen Option)
25 (Correct Alternative) (Choosen Option)

Question No. 15 1.00

Bookmark
Find the remainder when 222x223x224 divided by 6.
222x223x224 QL QARG 6 FI9 Lol Fem QIC6Td 6765 6497

(A) O 0 (Correct Alternative) (Choosen Option)
0 (Correct Alternative) (Choosen Option)

O
2.
@
Ww a2 NN
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Question No. 16 1.00

Bookmark

The average age of the 13 students is 15 years. If 2 more students of ages 13 and 17 years join, then
their average age will become:
13 @6 FQUIlim TIRITIR €24 15 9d 26 | 9T 13 o6 B 17 @F CAYR 2@ 2 B8 FQYIRN 6816 T2 6666
6ACINRA LIULIR 2D 699 |
(A) O 15 (Correct Alternative)

15 (Correct Alternative)
(B) © 13 (Choosen Option)

13 (Choosen Option)
C)O 17

17

(OO 19
19

Question No. 17 1.00
Bookmark
Aron can do a piece of work in 945 days. If Brenton is 35% more efficient than Aron, find the number of
days taken by Brenton to do the same piece of work.
6T 69115 @lclq 945 QR60 FAUI6R | IF 694, 6T VIR 35% 2K ey 9 6969 4deIe @Iy
£]°€3§1 A9 AR 694 g 6960 @8 MTS?
(A) O 750
750
(B) O 700 (Correct Alternative) (Choosen Option)
700 (Correct Alternative) (Choosen Option)
(C) O 650
650
(D) © 600
600

Question No. 18 1.00

Bookmark

A 1566 litre of mixture contains milk and water in the ratio 43:44. How much milk must be added to the
mixture so that it contains milk and water in the proportion of 3:2? (In litres) _
1566 MOQ 1% FIF4162 R B AN AQAIC 43:44 26T | FA B GRA AQAIST 3:2 AR QIR 4469 6868
A SRR 2FFIR? (MEER)
(A) O 424

424
(B) O 404

404
(C) O 414 (Correct Alternative)

414 (Correct Alternative)
(D) O 434

434

Question No. 19 1.00

Bookmark
What value should come in the place of question mark (?) in the following question?
8.5%(16x1.5%2.56%x24)=12 =7
QIRGIC 9962 gl £F (?) 291 YRR MY @6l 621 2ISFUYR?
8.5%(16x1.5%x2.56x24)+12 =7

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

(A) O 920 (Choosen Option)
920 (Choosen Option)
(B) O 1020 (Correct Alternative)
1020 (Correct Alternative)
(C)O 820
820
(D) 1120
1120

Question No. 20 1.00

Bookmark
A boat goes 279 km downstream in 31 hours and a distance of 210 km upstream in 30 hours. Find the
speed of the water. (In kmph)
69157 @oPl 6LISA AGFRER 279 km GBI 31 WEIER I9° 6ITR YEREDR 210 km GG 30 AEIER
BT R6Q | GRA 699 F4Al KR | (kmph 69)

(AYO 2
2

(B) O 1 (Correct Alternative)
1 (Correct Alternative)
(C)O 4
4

DO 3
3

3) Analytical Reasoning and Mental Ability

Question No. 1 1.00

Bookmark
If, in the number sequence 23487657 1335, all the odd numbers are increased by one and all the
even numbers are decreased by two, then the new number sequence is arranged in ascending order,
which will be the eighth digit from the right?

AT YT QGG 23487657 13356029 9019 AF D°SI6R N 98 @QUAI 9e° 9919 ggl a°sluIeR
90 219 QLN 6869 988 A°GHIFNG AIFQ ¢ F69 ARIREM 67RE BITIE AL AR AP 687
(A) O g

(B) O 4 (Correct Alternative) (Choosen Option)
4 (Correct Alternative) (Choosen Option)

€0 8
8
(B)O 6
6

Question No. 2 1.00

Bookmark
Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
E,O,K LU .
SIAMES Q6T QI §I6‘51I§‘ N @ﬁﬂ- QUILER IRIRR 26T I9° 66T g F108 K98 | 6990 69@
A6 AT 629 QIE?
E,. O, K, l.U

(AO O
0
B o U
U

(C) O K (Correct Alternative)
K (Correct Alternative)

DO E
E

Question No. 3 (Case Study From Q.No 4 To 8) 5.00
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Bookmark
Directions: Read the given information carefully and answer the questions that follow.
A, B, C, D, E, F, GandH are 8 friends sitting around a circular table not necessarily in the same order.
QOut of them, 4 are males and 4 are females. All of them are facing centre.
a) Awho is a male and doesn't sit close to females, sits third to the right of H who sits third to the right of
a female.
b) No female faces another female.
c) G and C are neighbours and they belong to same gender.
d) People sitting on the either sides of D are females.
e) F sits opposite to the one who sits to the immediate left of C.
f) F is the neighbour of A who doesn't face B.
g) B and E are not neighbours.

Bookmark
How many people sit between D and C, counting to the right of D?
D @ QITIE @LQ 1691 G6M D B C FAT6R 6966 @4l SE88?

C
O
FNFN RS

(C) O 2 (Correct Alternative)
2 (Correct Alternative)
(D) © 1 (Choosen Option)
1 (Choosen Option)

Bookmark
Which of the following is the odd man out, with respect to the arrangement?
QUegl A6 TN RIQ 68RQT ALTPS (odd man out) 266'?

(A) O HG
HG
(B) © DF (Choosen Option)
DF (Choosen Option)
(C) O BF (Correct Alternative)
BF (Correct Alternative)
(D)O AB
AB

Bookmark
Who sits third to the right of C?
C Q QI8 K¢ L1 2IFeR &9 2AK?

E
O
>> W@

(C) O F (Correct Alternative) (Choosen Option)
F (Correct Alternative) (Choosen Option)

DO E
E

Bookmark
Who among the following is a male?
FINGeR RIQ &9 W66 YR8 2ASE?

(A) O B (Choosen Option)
B (Choosen Option)
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B)O D
D

€O E
E

(D) O F (Correct Alternative)
F (Correct Alternative)

Bookmark
Who sits exactly opposite to E?

E 9 0% SU91660 @9 9d&?
(A)O B
B

(B) © H (Choosen Option)
H (Choosen Option)
C©)O F
F
(D) © A (Correct Alternative)
A (Correct Alternative)

Question No. 9 1.00

Bookmark
Which of the following symbols should replace the questions mark (?) in the given expression in order to
make the expression ‘D 2 A’ definitely true?

D?02N=A<T=E _ '
JgRIE ‘D = A § FElE Q6 d6Y K891 UIR 9@ A dRIse 2el 9 5F (?) IF6R FEMmGIe 69w Je1a
QAEQI 2QER?

D?0z2N=A<T=E
(A) O = (Choosen Option)
= (Choosen Option)

(B) O
©) O

vV IV A A

(D) O Either = or 2 (Correct Alternative)
= @€l 2 (Correct Alternative)

Question No. 10 1.00

Bookmark
Which one of the following images numbered as (1), (2), (3), (4) closely resembles the mirror image of the
given figure? )
(1), (2), (3), (4) VI6R PR 6T1RYT| FIMGIS FRIQ 696 87, g9a 58 odd getaa faced agd aded
>

A O 3
3

(B) O 2 (Choosen Option)
2 (Choosen Option)

(C) O 4 (Correct Alternative)
4 (Correct Alternative)

D)o 1
1

Question No. 11 1.00
Bookmark

Find the next number in the series.
572, 545, 506, 455, 392, ?
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JOR G169 AASEN L°HUIT Fda /R |
572, 545, 506, 455, 392, ?
(A) O 337
337
(B) O 347
347
(C) O 317 (Correct Alternative) (Choosen Option)
317 (Correct Alternative) (Choosen Option)
(D) 327
327
Question No. 12 1.00
Bookmark
Find the next number in the series.
3,4,7,22,87,7?
96 SF69 IRE! 2°HUIT F4a a9 |
3,4,7,22,87,7?
(A) O 435
435
(B) O 437
437
(C) O 436 (Correct Alternative)
436 (Correct Alternative)
(D) O 438
438
Question No. 13 (Case Study From Q.No 14 To 16) 3.00
Bookmark
Directions:
In a certain code language:
'4%a 9%q 8#u 2=g' is written as 'she saw sea shell,
'8#u 7@r 2=g 1>r' is written as 'she sell sea sand’,
'7T@r 9%q 5 '4%a 9%q 0!m 2=g' is written as 'she saw slippery shell'.
FeaIem:
9 GEUY 6919 QUGS :
'4%a 93q 8#u 2=g' q 'she saw sea shell' QI6S 63l LIRS,
'8#u 7@r 2=g 1>r' q 'she sell sea sand' W6 6mSll A&,
'7@r 9%q 5 '4%a 9%q 0!m 2=g' § 'she saw slippery shell' Q16 6%l AIRE |
Bookmark
What is the code for 'shell' in the given code language?
d9a 691% LUYIER 'shell' @ 671¢ @'dl 6€97
(A) O 9%q (Correct Alternative)
9%q (Correct Alternative)
(B) O 4%a (Choosen Option)
4%a (Choosen Option)
(C)O 2=g
2=g
(D) O 8#u
8iu
Bookmark
What does the code '7@r' stand for?
6918 7@r Q19! Ui QER?
(A) O sell (Correct Alternative)
sell (Correct Alternative)
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(B) O she (Choosen Option)
she (Choosen Option)
(C)O and
and

(D) O sea

sea

Bookmark
What does the code '8#u 4%a' stands for?
6QIG '8#u 4%a’ QIS UIRN QEY?

(A) O sea shell (Choosen Option)
sea shell (Choosen Option)

(B) O she sea
she sea

(C) O she shell
she shell

(D) O sea saw (Correct Alternative)
sea saw (Correct Alternative)

Question No. 17 1.00
Bookmark
A boy starts from point A and walks 4km towards West; turns left and walks 5km and turns another left
and walks 4km. He then walks 2km towards North; turns left and walks 6km; turns right and walks 3km.
He then finally walks 12km after turning right and reaches B. How far is A from B?
66lIT QIRG 85 A R 2199 88 D&l GHI68 4km SI6M; SIFIg g 99° 5km SIMES| U69 Y&l 26 FIEIg
g 4km SI6M | SI'UEH 62 QR TTIES 2km GIRE! U69 QIFIG §M 6km FI6M; GITIEG §M 3km SI6R |
GI'U6% 691 6EINER QIRIEIG RG] D69 12km Gl6M I9° B 691 9968 | B QL A QL 90161 696672
(A) O 2km
2km
(B) O 4km
4km
(C) O 8km (Choosen Option)
8km (Choosen Option)
(D) © 6km (Correct Alternative)
6km (Correct Alternative)

Question No. 18 1.00

Bookmark
After walking 2km, a boy turned left and walked 6km. He then took a left turn and walked 15km. If he
stood facing East direction finally, towards which direction did he walk the first 2km?

2km GRS J6% 6615\ QIRG QIAG M 6km SIRMI | G969 64 Q1A @M 15km SIRMI | O 69 68969 JS
GoIg g4 95 891 62IR2IMI 666S 69 T2 2km 686 THIER SIMAMI?
(A) O West (Correct Alternative) (Choosen Option)
€861 (Correct Alternative) (Choosen Option)
(B) O East
ge
(C) O South
Rl
(D) O North
Qe

Question No. 19 1.00
Bookmark
If all the vowels are replaced by the immediate next consonants from the English alphabet series in the
word DECENTRALISATION, then the letters of the word are arranged alphabetically, which letter will be
fifth to the right of the fifth letter from the left?
5let DECENTRALISATION 6@ 29 94919 %S\G‘éi@_ UG QUG cdeg 2g4leQ 9gIo OF olalalay Rallf:Xaka ]
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g9l gegIde aoudid 98° SI'969 d99 619 2I9Eq Qﬂﬂlﬂlggls‘a dul@ QBN, 6668 QICIR dE¢
VAR IRl FLER 2 DL AJRA K€l 6997

(A)O J
J
(B)O F
F
©oL
L

(D) O N (Correct Alternative) (Choosen Option)
N (Correct Alternative) (Choosen Option)

Question No. 20 1.00

Bookmark
In this question, relationship between different elements is shown in the statement. This
statement is followed by two conclusions:
Statements: D<A;N<O;D=N;YzA;0O=M
Conclusion:
HhN<A
i)O=>A

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

g g969 S0g QIS FER 2 'El“E]Gfﬁ_{ SRLYER goEic FNUTIRE | 9T B 969 gag aad
FAARS:

WTY: D<A;N<O;D=N;Y2A; O=sM

aad:

)N<A

i)O=>A

FURGG TRFYER P RAYS T0F SAF F0g

)
B) 6a%R @94 ii 299968 @69
C) aud | Gy ii Ag90E @68
D) aad | G i 2GI0E 969 Gle
E) a@w 894 G i 2999 969! |
(A)O C

O

(B)O D
D

(C) O A (Correct Alternative) (Choosen Option)
A (Correct Alternative) (Choosen Option)

(D)O B
B

Question No. 21 1.00

Bookmark

Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
Deficit, Surplus, Shortfall, Shortag% Loss ]
FYNGe dI68I5 FrIQ {jleﬂi@‘ 9@ PEY QUILER YRR 29T 99° 6515 7L J0R 9T | 6960 698
AFRER AT 629 F1E?
Deficit, Surplus, Shortfall, Shortage, Loss
(A) O Shortage

Shortage
(B) O Loss

Loss
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(C) O Deficit
Deficit

(D) O Surplus (Correct Alternative) (Choosen Option)
Surplus (Correct Alternative) (Choosen Option)

Question No. 22 1.00
Bookmark
Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given
series?

(1), (2), (3), (4) QITER 2FIR 6TID2S| TARGS FUIP 689 |F, Y98 IR ANSE &F 6897

NN WW b

€O

(D) O 1 (Correct Alternative) (Choosen Option)
1 (Correct Alternative) (Choosen Option)

4) Computer and Internet Awareness

Question No. 1 1.00
Bookmark
In Microsoft Excel, to create an absolute reference of cell, you need to use symbol between the
column letter and row number.
FliMeRILE I6gM (Microsoft Excel) 6% 64 (cell) R 6611 ZILELAIRUS 6RQPERS, (absolute reference)
SR 29S! AR IR AV B AT A°EYI (column letter and row number) FIJIER A& geie
LR S9! AISENS |
(A) O % (Choosen Option)
% (Choosen Option)
B)O &
&
(C) O $ (Correct Alternative)
$ (Correct Alternative)
DO @
@

Question No. 2 1.00

Bookmark
In Outlook, the emails which are not sent to the recipients due to no internet connection are temporarily
stored in the folder.

2oRS (Outlook) 6 REEES REAFR 92U AAER 6999 IeE ASG A0l AR GYQ REFING LS
QI Qed 6N 69 6FIR 6LIRelN |
(A) O Spam
4I€l (Spam)
(B) O Inbox
DeQg (Inbox)
(C) O Outbox (Correct Alternative) (Choosen Option)
iy (Outbox) (Correct Alternative) (Choosen Option)
(D) O Sent
644l (Sent)

Question No. 3 1.00

Bookmark
What is SRAM?

SRAM @'é1?
(A) O Secondary RAM (Choosen Option)
c46malll RAM (Secondary RAM) (Choosen Option)
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(B) © Synchronous RAM

a°6g159 RAM (Synchronous RAM)
(C) O Static RAM (Correct Alternative)

®I5@ RAM (Static RAM) (Correct Alternative)
(D) O Selective RAM

J6mEQ RAM (Selective RAM)

Question No. 4 1.00

Bookmark
To add a symbol or number slightly above the normal line of text, you need to select option in
Microsoft word.

6939 Q 6915\ ARIIRE 2IG (normal line of text) B T6@ QU6 601ITN JL1a @€l 691151 A°6I4I 6AIERI aIR
2198 AIR6FIIE @IS (Microsoft word) 69 299R 9O QLRI 2LEYSR |
(A) O Superscript (Correct Alternative)
gaad€ (Superscript) (Correct Alternative)
(B) © Subscript
9939 (Subscript)
(C) O Strikethrough
a2 (Strikethrough)
(D) O Typescript (Choosen Option)
SIRAG (Typescript) (Choosen Option)

Question No. 5 1.00

Bookmark
To create a newspaper-like layout in your Word document, you need to choose option from the
Layout tab.

28w @l @QEFIQ (Word document) 69 SISQRIFIR G 6RAIAS (layout) I9E K9G IR IS8 6R2AG
FUIQ (Layout tab) @ 299e 042 9501 2N |
(A) O Border
69159 (Border)
(B) O Orientation (Choosen Option)
3E649R (Orientation) (Choosen Option)
(C) O Column (Correct Alternative)
@mel (Column) (Correct Alternative)
(D) O Size
dinQ (Size)

Question No. 6 1.00

Bookmark
You can use function in Excel to remove decimal or fractional part of the number.

46gM (Excel) 69 2°HUIQ Q€A1 @€l QSII°8 QUS! (decimal or fractional part) § €911 QIR 2ICE!
@S (function) QUSLIR FRAIRES |
(A) O Trunc (Correct Alternative)
@@ (Trunc) (Correct Alternative)
(B) O Sum
4¢l (Sum)
(C) O Roundup
QU@eél2ld (Roundup)

D) O Avg
Avg

Question No. 7 1.00
Bookmark
Virtual Reality technology was invented in the year , by Morton Heilig.
AgI6R 6616915 62MS! (Morton Heilig) & {19 @Q?Jiﬁl QUMG 65R6TIME (Virtual Reality
technology) 2IS8E 6LIReM |
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(A) O 1968
1968
(B) O 1980
1980
(C) O 1957 (Correct Alternative)
1957 (Correct Alternative)
(D) O 1982
1982

Question No. 8 1.00

Bookmark
is the name Microsoft uses to refer to the dynamic ability that allows a device to
automatically switch between desktop and tablet mode.

___ 6968 69159 QI QILIg FIRERILSE, (Microsoft) GIR@IER AIRS (dynamic ability) § 62PN

AR50l dIR QUSLIR KRN, € ATRE 65159 TR0 (device) § 66999 G F196mS 6¢1IQ (desktop and
tablet mode) £126Q 26SIFITRIR S (automatically switch) 829! QIR AILILY F6S |
(A) © Chromium

62189¢1 (Chromium)
(B) © Tabview (Choosen Option)

Sle@4 (Tabview) (Choosen Option)
(C) O Colscase

@ampEad (Colscase)
(D) O Continuum (Correct Alternative)

621459l (Continuum) (Correct Alternative)

Question No. 9 1.00

Bookmark
The technology used to verify the originality of unique confidential paper documents such as Cheques is

66 (Cheques) @ff 9o @GPELEHRIN 60UR @G6€1&4 (unique confidential paper documents) &
BRGRIME (originality) § K19 KQ&I AR 69R6FINE QUL AU |
(A) O MICR (Correct Alternative) (Choosen Option)
MICR (Correct Alternative) (Choosen Option)
(B) O MBPS
MBPS
(C) O MIPS
MIPS
(D) O PCR
PCR

Question No. 10 1.00
Bookmark
Which among the following lists of memory is volatile?
FINGS SRR 699 66166151 CRARITIAM (volatile) 26T ?
(A) O FLOPPY (Choosen Option)
FLOPPY (Choosen Option)
(B) © RAM (Correct Alternative)
RAM (Correct Alternative)
(C) O HDD
HDD
(D)O USB
USB

Question No. 11 1.00

Bookmark
The window that appears below each slide which displays the text description about the slide for the
presenter is
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QGGLIG? YDQ 967 QAR 6202S| E66ll (window) @ Qeldng, 68‘5&16‘61 6644 (presenter)
AR GInG GRALR 699 6@%‘@]9‘ (text description) QG‘&‘JQ 6Ll |
(A) O Source pane (Choosen Option)
64lld 6919 (Source pane) (Choosen Option)
(B) O Script pane
9,699 (Script pane)
(C) O Notes pane (Correct Alternative)
6219'q 64% (Notes pane) (Correct Alternative)
(D) O Slide pane
QYL 649 (Slide pane)

Question No. 12 1.00

Bookmark
What is the full form of W3C?

W3C a g4 Qa «'a?
(A) O World Wide Web Commerce
ARG GRe 699 99d (World Wide Web Commerce)
(B) O World Wide Web Contact
@IRNe GINe 699 9&IF (World Wide Web Contact)
(C) O World Wide Web Consortium (Correct Alternative)
@INgG GINEG 63S eF6AITAr (World Wide Web Consortium) (Correct Alternative)
(D) O World Wide Web Communication (Choosen Option)
4Ine ¢loe 649 QFUGFEREIR (World Wide Web Communication) (Choosen Option)

Question No. 13 1.00

Bookmark
What is called the Least Significant Bit (LSB)?

mY JPRIE @9 @1 Least Significant Bit (LSB) g @'6l §€lai?
(A) O Every bit (Choosen Option)

@9l @6 (Every bit) (Choosen Option)
(B) O Right most bit (Correct Alternative)

ARG 67118 8¢ (Right most bit) (Correct Alternative)
(C) O Middle bit

8@ 6 (Middle bit)
(D) O Left most bit

6MTE 6511E TG (Left most bit)

Question No. 14 1.00

Bookmark

The number of packets passing through the network in a unit of time is called
IR 919 (a unit of time) 62 69115 6954IG 69 ATGE @Q2lQl JUI6WT (packet) Q]”‘aﬂlﬁi(number of
packets) LI |
(A) O Throughput (Correct Alternative)

249" (Throughput) (Correct Alternative)
(B) © Delay

@6@ (Delay)
(C) O Load

eml% (Load)
(D) O Latency (Choosen Option)

MIESS, (Latency) (Choosen Option)

Question No. 15 1.00

Bookmark
are computer virus programs that will start or stop functioning after a predetermined date or
time is reached.
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JOF FYITR VUIRXG 6QIFIEN (computer virus programs) 266 KILI 66115 GS FEIRG SIS el
gRL60 dL8Rl 969 Q1Y @RI 2198 @89 a7 9% 6L |

(A) O Time bombs (Correct Alternative)
QIRel @€, (Time bombs) (Correct Alternative)
(B) O Boot-sector viruses (Choosen Option)
E-0490 LY (Boot-sector viruses) (Choosen Option)
(C) O Macro viruses
Fleg| KUNRL (Macro viruses)
(D) O Worms
e (Worms)

Question No. 16 1.00

Bookmark

initializes all aspects of the system, from CPU registers to device controllers to memory
contents.

CPU 69@89 (CPU registers) @ @RIRl @6&IMR (device controllers) QELIEEIN @6&1€L (memory
contents) 9iYs ARAQ AF1Y AIKETS (aspects) LIl 2N 6L |
(A) O Adapters
ALY (Adapters)
(B) O Diskcontroller
@%6@@@ (Diskcontroller)
(C) O Database
@969 (Database)
(D) O Firmware (Correct Alternative)
19 12 [ED) (Firmware) (Correct Alternative)

Question No. 17 1.00
Bookmark
The portable device that can store all your office documents is
AEFR 79 ATTAR SFECIQFET 6]IR FRAQRS eaie;s‘gm elinial (ponable device)
a6 |
(A) O RAM
RAM
(B) O USB Mouse
USB Mouse
(C)©O ROM
ROM

(D) O USB Drive (Correct Alternative) (Choosen Option)
USB Drive (Correct Alternative) (Choosen Option)

Question No. 18 1.00
Bookmark
What is the shortcut key to move to the begmnmg of the worksheet?
gl Q1e (worksheet) Q 219 QIeg 4! AR QI@QS‘ @1 (shortcut key) @617
(A) O Alt+ Home
Alt + Home
(B) O Shift + Home
Shift + Home
(C) O Ctrl + shift + Home (Choosen Option)
Ctrl + shift + Home (Choosen Option)
(D) O Ctrl + Home (Correct Alternative)
Ctrl + Home (Correct Alternative)

Question No. 19 1.00

Bookmark
What will happen when you press Windows key + M ?

Windows key + M § QIF6M @'61 6297
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(A) O It will maximize all open applications

6oliml 291 9919 AFeRARg L1 AIFAIRR 929 (It will maximize all open applications)
(B) O It will duplicate all open applications

68lIRI 2191 DAY AFERARG 9L §GERT KR (It will duplicate all open applications)
(C) O It will minimize all open applications (Correct Alternative) (Choosen Option)

6sliml 2191 9619 AIGeRaeq I8! AFAIRE @A (It will minimize all open applications)
(Correct Alternative) (Choosen Option)

(D) O It will uninstall all open applications
6oliml 2l 9919 EII%G?EJG‘E‘L 9@ ALRERM AR (It will uninstall all open applications)

Question No. 20 1.00

Bookmark
What does BCC denote in emails?

@ECIM (emails) 62 291 BCC FI9l 9'6l gox! f6m?
(A) O Blind Common Copy (Choosen Option)
S/a¢ @¢e @@ (Blind Common Copy) (Choosen Option)
(B) O Blind Complete Copy
q/ad a8e 94 (Blind Complete Copy)
(C) O Blind Communication Copy
NG RYFERER 9T (Blind Communication Copy)
(D) O Blind Carbon Copy (Correct Alternative)
SINg Q1SS 9@ (Blind Carbon Copy) (Correct Alternative)

5) Current Affairs National and International

Question No. 1 1.00

Bookmark
Who among the following is the winner of the French Open 2022 Men's Singles Final?

FImIew FIQ & 68 (A 2022 YR dbPm ZPIRGIM (French Open 2022 Men's Singles Final) Q §666!
2lem?
(A) O Max Verstappen
g 6LRYEHR (Max Verstappen)
(B) O Swapnil Kusale
IR geleR
(C) O Sunil Chhetri
gaim 6881
(D) O Rafael Nadal (Correct Alternative) (Choosen Option)
oUerm @IeIm (Correct Alternative) (Choosen Option)

Question No. 2 1.00

Bookmark
Where was the 44th edition of FIDE Chess Olympiad 2022 held?

FIDE 699 2Rd2e 2022 (FIDE Chess Olympiad 2022) @ 448¢1 9°L6] 6920169 2A93e 6LIRAMI?
(A) O Karnataka
adioa
(B) © Tamil Nadu (Correct Alternative)
GIAMAIG (Correct Alternative)
(C) O Telangana (Choosen Option)
ceemerlal (Choosen Option)
(D) © Maharashtra
LIUY

Question No. 3 1.00
Bookmark
Which city has been named the first-ever SCO Tourism and Cultural Capital for the period 2022-2023 at
the Shanghai Cooperation Organization (SCO) Summit in Samarkand?

IA981969 2986 QiR 996LIsl 9°610% (Shanghai Cooperation Organization, SCO) S@RG16R 2022-
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2023 29 IR 68R aLeg galel aal gIe SCO adyes @ QLR QRIS (SCO Tourism and Cultural
Capital) QI96Q @161 SUARR?
(A) O Varanasi (Correct Alternative)
QRN (Correct Alternative)
(B) O Yangon
LI9Pa (Yangon)
(C) © Angkor Wat
2GPERID €lo' (Angkor Wat)
(D) © Udaipur
QYAYR

Question No. 4 1.00

Bookmark

Which country has recently developed its first fully solar powered unmanned aerial vehicle named
"Qimingxing-50"?
629 694 Has6R ITIR galf ddtd 641Q BIRE FIeS 3918 SAIe IR (unmanned aerial vehicle) "@ElsP RGP
-50 (Qimingxing-50)" §@8c A&7
(A) O China (Correct Alternative) (Choosen Option)

914 (Correct Alternative) (Choosen Option)
(B) O Pakistan

@R
(C) O India

QG
(D) O Thailand

2i@mle

Question No. 5 1.00

Bookmark
Which edition of G20 Heads of State and Government Summit will take place on 9th-10th September
2023 in New Delhi?

@ -20 QUYL Je4 99° A9RIR ARARRT (G20 Heads of State and Government Summit) 699 <°9RE 9-10
696961 2023 69 GAITRIER 2GS 6287
(A) O 18th (Correct Alternative) (Choosen Option)
18G¢1 (Correct Alternative) (Choosen Option)
(B) O 17th
1789
(C)y© 20th
20G¢!
(D) © 19th
199¢1

Question No. 6 1.00

Bookmark
Who has become the youngest person to fly solo around the world in August 20227

G} 2022 691 B9 99T FAIFER G Y8 QRIS RTYSE 4B 2Jem?
(A) O Amelia Earhart
2I6ER2 AAXLIS (Amelia Earhart)
(B) O Mac Rutherford (Correct Alternative)
Y19 AGQEEPIG (Mac Rutherford) (Correct Alternative)
(C) O Charles Lindberg
SIMg REeel (Charles Lindberg)
(D) O Paul Tibbets
IR 56954 (Paul Tibbets)

Question No. 7 1.00
Bookmark
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India's First Al-powered, end-to-end digital Lok Adalat was launched by Justice Uday Umesh Lalit in
which among the following states?

e8] QL QEFE AMER TR ARECR gael iR SRS (Al-powered), 94-g-9¢ GRTIR 6MIF AFLMES (end-
to-end digital Lok Adalat) @gmEIS 656 URYER IR FRUAIR2IMI?
(A) O Goa
eqlell
(B) O Haryana
astatie]
(C) O Rajasthan (Correct Alternative)
Al (Correct Alternative)
(D) O Punjab
dale

Question No. 8 1.00

Bookmark

Who among the following has won the title of Miss Diva Supranational 20227
FeqIBfIom FRIQ @ A9 G@l UIERAQIR 2022 (Miss Diva Supranational 2022) SRR @688?
(A) O Karolina Bielawska (Choosen Option)

QIEAURNR| TRIGK (Karolina Bielawska) (Choosen Qption)
(B) O Sini Shetty

A8 6981 (Sini Shetty)
(C) O Divita Rai

QQ¢I QU9 (Divita Rai)
(D) O Pragnya Ayyagari (Correct Alternative)

g%l 2SI (Pragnya Ayyagari) (Correct Alternative)

Question No. 9 1.00
Bookmark

Which of the following districts has recently become the first fully ‘functionally literate' district in India?
FIMES AUQ 690 AR AASER APYES el 91916?1 'RTIAN [ (functionally literate)' @RI 6LIRAIRZ?
(A) O Coorg, Karnataka

g9, @4leR (Coorg, Karnataka)
(B) O Mandla, Madhya Pradesh (Correct Alternative)

flidml, a&d69sl (Mandla, Madhya Pradesh) (Correct Alternative)
(C) O Aizawl, Mizoram

ARRM, ACRKIAE (Aizawl, Mizoram)
(D) © Kottayam, Kerala (Choosen Option)

6RIBILIE, 6RW (Kottayam, Kerala) (Choosen Option)

Question No. 10 1.00

Bookmark

Who among the following has been appointed as the UNICEF Goodwill Ambassador in 20227
2022 69, FgMgem FIQ QLI UNICEF gedm 2IF)AIea (UNICEF Goodwill Ambassador) @169 849
AAARR?
(A) O David Attenborough (Choosen Option)

QUL 2IeTF6RI6R (David Attenborough) (Choosen Option)
(B) O Greta Thunberg

695 Aeesl (Greta Thunberg)
(C) O Isabelle Axelsson

RleEm 2legmda (Isabelle Axelsson)
(D) O Vanessa Nakate (Correct Alternative)

@leadl RIRIES (Vanessa Nakate) (Correct Alternative)
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